Whitman College

Econ 328

Exam 3

April 22, 2009

Write all answers in your blue book.  Show all of your work.  The exam ends at 2:20.  

For questions 1 and 2 below, consider an industry composed of two firms that produce an identical product. Suppose that the market demand is given by P = 200 - 5QT, where QT is the sum of Firm 1 and Firm 2’s output. They can sell fractions of a unit, and the prices can be quoted in increments as small as one cent.  Neither firm has any fixed costs.  Firm 1 has constant marginal costs of 45.  Firm 2 has a constant marginal cost of 50.  

1.  Suppose the firms play a Cournot duopoly game in which they simultaneously choose their outputs, letting market demand determine the one price at which their products sell. 

(a)  (10pts)  What is each firm’s best response function?

(b)  (10pts) Find the pure strategy Nash Equilibrium (NE) of this Cournot quantity-setting game.

(c)  (5pts)  What is each firm’s profit at the NE of this game?

2.  Suppose the firms play a Bertrand duopoly game in which they simultaneously choose their prices.  Customers will buy from the firm with the lowest price.  If the firms charge the same price, then customers will split evenly between them.  

(a)  (10pts)  Find the pure strategy Nash Equilibrium (NE) of this Bertrand price-setting game.

(c)  (5pts)  What is each firm’s profit at the NE of this game?

3.  (5pts)  Describe what you learned from Andrew Schotter’s class presentation on April 1.

4. Consider the following game.  

	
	
	Player 2
	
	

	
	
	L
	M
	R

	Player 1
	T
	5, 3
	5, 1
	0, 0

	
	B
	2, 1
	3, 4
	4, 10


(a)  (5pts)  Find all of the Nash equilibria in pure strategies for this game. 

(b)  (10 pts)  Find all of the Nash equilibria in mixed strategies for this game.

(c)  (10 pts)  Graph the best response functions for each player. Put Player 1’s choice of p on the horizontal axis, and Player 2’s choice of q on the vertical axis.  Be sure to label which best response function belongs to which player.

5.  Consider a contractual setting in which the technology of the relationship is given by the following partnership game.  Suppose that the players contract in a setting of court-imposed breach remedies.  The players can write a formal contract specifying the strategy profile they each intend to play.  The court observes their behavior in the underlying game and, if one or both of them cheats, imposes a breach transfer.  Assume that in the event of a breach, the court could verify which player breached, but the court would not know what each player’s payoff would have been under the (I, I) outcome.  The players wish to support the outcome (I, I).  Assume there are no costs to using the court system.

	
	
	Player 2
	

	
	
	I
	N

	Player 1
	I
	7, 7
	1, 8

	
	N
	9, 2
	5, 5


(a)  (4pts)  Define expectations damages.  

(b)  (3pts)  Can the court impose expectations damages in this case?  Explain your answer.

(c)  (4pts)  Define reliance damages.  

(d)  (4pts)  Define restitution damages.  

(e)  (15pts)  Would these players be better off with a court system that imposes reliance damages or restitution damages?  Explain your answer, and show your work.

